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PAPER-6 (Aptitude Test for MBA/MCA)
English Language Q.1t0Q. 25
Numerial Aptitude Q.26t0 Q. 50
Thinking & Decision Making Q.51t0Q. 75
General Awareness Q.76 t0 Q. 100
Paper 6 (English Language)
001. Pick the word that ‘is closest in meaning to | 005. Pick the word that is closest in meaning of
‘Abound’: the idiom “Beat around the bush™:
(A) Flourish (B) Aggravate (A) Avoiding the main topic
(C) Secure (D) None of the above (B) A good idea or plan
(C) All the advantages
002. Pick the word that is closest in meaning to (D) Something is very expensive
‘Calamity’:
(A) Fortune (B) Adversity 006. Pick the word that is closest in meaning of
1Y : r-"l
(C) Compassionate (D) Sullied thiphrase:“Cutiit out!
(A) Come to understand a problem
003. Antonym of ‘Novice’: (B) Stop doing something bad
(A) Tyro (B) Beginner (C) Very close
(C) Veteran (D) Baneful (D) Not very often
. . 007. Which of the following words can be used to
004 Antnnyn‘i of “Sacred’; + refer to study the nature of Gods:
(A) Profane (B) Immigrant (A) Theology (B) Anthropology
(C) Scheme (D) Concise (C) Speleology (D) Philosophy
6-AA | [2] [ Contd...
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008 .- cat loves comfort. 016.  Which of the following is the correct "active’ Ldiid
(A) An (B) A equivalent of the sentence? %’%’%
(C) The (D) Zero article. My pocket has been picked. tjtj
A) Someone picked my pocket. raes
009. Sugar...... is bad for your teeth. (&) P _ yP e
(A) th B) (B) My pocket was picked by someone. %‘%‘%
- a : s
©) a (D) Zero article (C) My pocket was picked %_%H
(D) Someone has picked my pocket. lr"ﬁ%ﬁ
010. The driver jumped ...... the car. E‘iﬁ
) 1 (B) o1 017. Which ofthe following is the correct ‘passive’
(C) over (D) upon equivalent of the sentence?
011. I have notslept ...... yesterday. It is time to shut up the shop.
(A) since (B) after (A) It is time for the shop to be shut up.
(S), betore (B)oyer (B) It1s time to shop to shut up.
012. God made the country ....... man made the (C) Itis time for shop being shut up.
town.
D) It has been time for the shop to shut up.
(A) that (B) where ®) P ¥
(C) and (D) or For Questions 18 to 21, refer to the
013. She must weep, ...... she will die. following passage:
Despite their similarities, the pyramids of
) o (5 an E dM ' tob lated
gypt and Mesoamerica seem to be unrelate
(€) and ([2) that because of distinct differences in the time
. eoding o of construction as well as their design and
014. Wh!ch of the following m'the correct ‘direct finction. Historians have discovered that
equivalent of the sentence? : Kl
_ the construction of the pyramids in Egypt
Ram ordered Arjun to go away. and Mesoamerica are separated by over
(A) Ram exclaimed, “Alas! Arjun to go 2,000 years. The Egyptians used only cut
away.” stone quarried many miles away from the
(B) Ram said to Arjun, “Go away”. pyramid sites—a construction method that
» o = enabled them to construct sturdy buildings
(C) Ram told, “Arjun go away”. that could withstand the test of time.
(D) Ram sad, “Amun.fo go away”. On the other hand, the pyramids of
Mesoamerica were not built to withstand the
015. Which ofthe following is the correct ‘indirect’ ravages of time. Rather, the step pyramids
equivalent of the sentence? rose in tiers, on the top of which a small
. : PR : temple was erected. Unlike the Egyptians,
Call the first witness™, said the judge. they used irregular stones. Also, they did not
(A) The judge commanded them to call the share the same basic design function. While
first witness. the Egyptian pyramids were private tombs
(B) The judge told me that call the first meant to separate the ph_aranh’srcmams trc_rm
oberesens the mainstream of society and protect him
- . + for eternity, the pyramids of Mesoamerica
(C) Call the witness the judge said. were primarily public temples of ritual and
(D) The judge said us to call the first witness celebration.
6-AA | [3] | P.T.O.
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018. The main idea of this passage is best summed | 021. The used word “eternity” in the passage most
up in which statement? nearly means which of the following?
(A) Pyramids in Egypt and Mesoamerica are (A) for a short time (B) temporary
siglllar, (C) foralltime (D) never
(B) Egyptians assisted Mesoamerican
pyramid builders. 022. Choose the correct sentence from the
(C) Pyramids in Egypt and Mesoamerica tollawing;
have distinct differences. (A) He described about the scenery.
(D) Scientists do not know who built the (B) He described the scenery.
pyramids. (C) He described for the scenery.
(D) He descried in the scenery
019. This passage best supports the statement that
(A) the Egyptians used stone quarried many | 023. Choose the correct sentence from the
miles away from the pyramid site following:
(B) the pyramids of Mesoamerica were built (A) He requested for my help.
to last for eternity. (B) He requested my help.
(C) the Egyptian pyramids were public (C) He requested to my help.
tombs. (D) He requested about my help.
(D) the Egyptian and Mesoamerican
pyramids were built during the same | (024, Choose the correct sentence from the
time period. following :
(A) The news is too to be true.
020. The passage best supports the statement that (B) The news to so good to be true.
(A) Egyptian and Mesoamerican pyramids (C) The news too much good to true.
shared the same design function. ,
(D) Thenews isvery good that cannot be true.
(B) both pyramids were used as temples of
ritual and celebration. 025. Choose the correct one:
(C) Egyptian and Mesoamerican pyramids (A) IfT were you, I should agree
shared the same construction methods.
(B) IfI was you, I should agree
(D) Mesoamerican pyramids were used for
: : (C) Both of the above
ritual and celebration.
(D) None of the above
6-AA | [4] [ Contd...
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Paper 6 (Numerical Aptitude) ‘r'ﬁir"ﬁi
026. What is angle ‘x’ in the schematic diagram | g26. 19 o3 ™ M@ o HIU X’ & gH F= %_:’1%_:{
given below? 27 11"'.%.%
- £l
O . "
L0 130° 31
s
cale
o RRtEA
Lakt= 130° ERIED
[palon)
B 1]
(A) 60° (B) 50° (A) 60° (B) 50°
(C) 40° (D) 30° (C) 40° (D) 30°
027. If i = =1, then the value of 027. I i= /-1, d9
-592 4 5! D88 | D86 D84
;592 4 ;590 4 ;588 | 586 4 ;584 1 + 3290 44295 + 959 459 —1 @
;582 580 | 578 | 576 | ;574 1 is 75 gi580+i5?8+ib?b 427
HH &:
(A) -1 B) 2 (A) -1 (B) -2
) =3 (D) -4 (C) -3 D) 4

038, Feed =i, end—i—=vV—=i—d—1... 0 | 028 aﬁm3=1,aa«/—1—/—1—/—1.........oo

is equal to S B:
(A) 1 B) -l (A) 1 (B) -l
(C) w? D) -o (C) o’ (D) -o

029. If sinA, cosA and tanA are in geometric | 029. R sinA, cosA U1 tanA U &oft H

progression then Cos>A + CosZA is equal to &, @ Cos’A + Cos’A ST 2:
(A) 1 (B) 2 (A) 1 (B) 2
(C) 4 (D) None of these (C) 4 (D) W ® HE Tal

030. If secO + tan® = P, then tan0 is equal to: | 030. JfG secO + tan® = P, T« tand SE B:

2P P~—1 9P p2_q
(A) 21 (B)  “5p (A) 27 B) “5p
P2+ 1 2P P*+1 2P
© “p ) S ©) —=p D) i
6-AA | [5] [ P.T.O.
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031. If sides of a traingle are 3, 5 and 7 cm, | ¢31. =fe fereh ﬁtﬂa & Hmﬁ 3,5 daT 7 cm
then the greatest angle in the triangle is G ﬁrﬂa H TIH dE1 HIU 3
(A) 105° (B) 120° (A) 105° (B) 120°
(C) 135° (D) 150° (C) 135° (D) 150°

032. The general solution of the equation tan® | (032. FHHW tanO + tan 20+ /3 tan Otan 20= /3
+ tan 20 + /3 tan Otan 20 = /3 will be F F9Hh BA BM

ni n  1\mw nix % . 1\
G ® (5+3)5 (A) 73 ® (3+3)5
1\r 1\x

© (n+3)5 © ¢ © (n+3)Z ) ¢

033. The 13" term of the sequence 12, 14, 17, 13, | 033. 3oft 12, 14, 17, 13,8, 14, woovvvvvvo... 1 13 9
B Ty mummmn is 92 7
(A) 14 (B) 13 (A) 14 (B) 13
(€C) 15 (D) 0 (C) 15 (D) 0

034. A six sided regular polygon is inscribed in a | 034, 10 It == 9 I q Th 6 *ﬂmyﬁ
circle of radius 10cm, then the length of one AT FHAEHS ST %, as  THeEY +
side of the polygon is Th ol Hl TR 8
(A) 20cm (B) 15cm (A) 20cm (B) 15cm
(C) 10cm (D) Scm (C) 10cm (D) Scm

035. How many numbers are there between 100 | 035, 100 3T 1000 & = fraft v gem
and 1000 in which all the digits are distinct g 9 aft 31 a1 - 31 @
(A) 500 (B) 540 (A) 500 (B) 540
(C) 648 (D) 700 (C) 648 (D) 700

6-AA | | 6] | Contd...
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036. In adjoining figure, AB[[CD, ‘t’ is the | 036, = & T a@ﬁ 4, AB|CD, ‘' Th
transversal line, EG and FG are the 9% @1 % EG 3 FG %u3: /BEF
bisectors of ZBEF and ZDFE respectively, dam /DFE @& 31 <hlvr 8, dq9 9= #
then which of the following is true: $H IF &

t t
E E
i L 2 3
G G
o : = 2 k ——
C D C D
(A) FG? + GE? < FE? (A) FG? + GE2 < FE?
(B) FG? + GE? = FE? (B) FG? + GE2 = FE?
(C) FG? + GE? > FE? (C) FG? + GE2 > FE2
(D) None of these (D) =i § PR TE
. ; : . _
037. Which of the following statement 1s false’ 037. T § ®H W@ %9 EA &
A) AAB,C, =z AA,B,C, and
el SegBity = Rplst; e (A) AAB,C, = AA,B,C, 3K
AA,B,C, = AA;B;C; = AAB|C,
: AA,B,C, = AA;B;C; = AAB|C,
= AA;B;C,
. : = AA;B;C;
(B) AAB,C, = AA,B,C, and AA,B,C, = (B) AAB,C, = AA,B,C, 3R AA,B,C,
AA;B;C; = AAB|C, 2 AA;B;C, = AA;B;C; = AAB|C, 2 AA;B;C,
(C) Triangle inscribed in a semicircle (O) 3115@ e ﬁ‘g?r, ISEEIRCE LSl
whose larger side is diameter of the aﬁﬁ <hl <IMH %, R[] iﬁﬂa @?IT
semicircle is right angled triangle. 2l
(D) Sum of all interior angle of the triangle (D) BIYs &% @R 37d: =HION 1 AT 180°
is 180° gl 2|
6-AA | [7] [ P.T.O.
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038.

The circumferences of two circles are 264

038. < gui i uRferi 264 #t. et 352
meters and 352 meters. The difference #) = In o Eﬁh ¥ Sgnat ¥ &9
between the areas of the larger and smaller H T B
circles is
(A) 4192m>  (B) 4304m [ mmesr (B <B0ME
(C) 4312m> (D) 4360m? (C) 4312m> (D) 4360m?

039. Two students appeared at an examination. | 039, 2 ®F UH G H EiEford E@n 34
One of them secured 09 marks more than g UHh d z@} &£ GG 4 09 3% 3
the other and his marks was 56% of the g foRd 3T 3T 3 399 3T h
sum of their marks. The marks obtained AN R 56% ATl 396 ¢ gred fomd
by them are: IF B
(A) 39, 30 (B) 49, 32 (A) 39, 30 (B) 49, 32
(C) 33, 42 (D) 43, 34 (C) 33, 42 (D) 43, 34

040. ‘A’ can do a work in 15 days and ‘B’ in 20 | 940, A foreft & =1 15 fear @ 3k B 20
days. If they work on it together for 4 days, fet = T hl Hhdl gl A 98 =W
then the function of work left is: Gl T W W AW HH W E

a1 feam =& a9 @
® 1 ® 19 (A) § ®) 1g
© 1= ® T © 1= D)

041. The population of a city was 3000. It was | 041. U& gt <kl 59 F&@m 3000 off| gug o9
increased by 4% in the first year and then Tl 6 4% wgad §§ qer fe Z';-Eﬁ Gt
decreased by 3% in next year. What was 39 hI HHt g | @ 9N & Id H
the total population at the end of two years? BN SHaE fRadr oft?

(A) 3208 (B) 3228 (A) 3208 (B) 3228
(C) 2028 (D) 3026 (C) 2028 (D) 3026
6-AA | [8] [ Contd...
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Direction (Q.42 - Q.44) :

Study the given table and answer the question based

on it.

Expenditures of a company (in Cr. rupees) per annum
over the given years

Expenditures
Year Fuel and Interest
Salary Transport Bonus on loan Taxes

1998 | 288 98 3.00 234 83
1999 | 342 112 252 32.5 108
2000 324 101 3.84 41.6 74
2001 | 336 133 3.68 36.4 88
2002 | 420 142 3.96 49 4 98
042. What is the average amount of interest per

year which the company had to pay during
the period 1998-2002?

s (Q.42 - Q.449) :

= areft &1 sreEE R 3 39 YR W fed

T Y % I -
fedt wodft w1 gfged feon o = (s
w9 H)
99 & He
Ty 394 g T T
CLE| GIEEe h
PECEE] TS
1998 | 288 98 3.00 234 83
1999 | 342 112 2.52 32.5 108
2000 | 324 101 384 | 416 | 74
2001 | 336 133 3.68 36.4 38
2002 | 420 142 3.96 | 494 | 98
042. Sfded surs it 3fwa Uiy w0 B S o A

ay 1998-2002 ! e o ERE JTdH I
oft 7

A
SOETET

poloalog.
o

PSSR T NN

015
16

7}

I
1S
s

als

L
Sn
Bl
21t

als
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als
1t
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als
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21
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i th
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(A) 32.43 (B) 33.72 (A) 32.43 (B) 33.72
(C) 34.18 (D) 36.66 (C) 34.18 (D) 36.66

043. Total amount of bonus paid by the company | 043. a9 1998-2002 @i 31@fe] & R HEHT gRI
during the given period (1998-2002) is fr mu dmE Pl wmm g
approximately what percent of the total safa & geH @ ™ a1 i pa ufa
amount of salary paid during this period. %1 fopam ufasra &7
(A) 0.1% (B) 0.5% (A) 0.1% (B) 0.5%

(C) 1.0% (D) 1.25% (C) 1.0% (D) 1.25%

044. Total expenditure on all the items in 1998 | 044. a9 1998 ¥ T U W EIUEEEN CL
was approximately what percent of the total 2002 H el ST °hl IHT feram gfasma
expenditure in 2002? qT?

(A) 62% (B) 66% (A) 62% (B) 66%
(C) 69% (D) 71% (C) 69% (D) 71%
6-AA | [9] | P.T.O.
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Direction (Q.45 - Q.47) : g (Q.45 - Q.47) :
Based on pie chart given below, answer the following | i feg 1 uEg=d & sur W f=fafaa goAi
questions. & I <
Details of expenditure in percentage @9 %1 faaor yfase
Public
Welfare 14%
Education 34%
045. If the total spending is Rs. 50,000 Cr., how | 045. 3If¢ H& @@= %.50,000 HUE 7 ql TSIH
much money was spent on highways? w fohar @= fRar mT?
(A) Rs.3,500Cr. (B) Rs.22,500Cr. (A) %.3,500 U8 (B) %.22,500 s
(C) Rs.15,000Cr. (D) Rs.20,000 Cr. (C) %.15,000 s (D) %.20,000 s
046. Approximately, how many times the amount | 046. TSgqFT W @9 84 arcdl TRT &1 AT
spent on highways 1s spent on education? feRaT Tom e W wd fopar wmar 87
(A) 10 (B) 3 (A) 10 (B) 3
(C) 5 (D) 15 (C) 5 (D) 15
047. Approximately, what fraction of the total | 047. TSI 3R &b Hhedlol W 5 G|
expenditure is spent, on highways and &1 T g fawm E’gﬂﬁ MU EH
public welfare combined? fran ST 287
2 1 2 1
(A) 5 B 3 (A) 5 B) 3
1 2 1 2
© 3 ®) 3 ©) 3 @) 3
6-AA | [10] [ Contd...
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Direction (Q.48 - Q.50) : g (Q.48 - Q.50) : HH

Based on Bar graph given below, answer the = ¥ ™ arus & R w Fefafaa g H%‘%
following questions: F IW o t.jt.j
' paloh)

The Bar graph given below shows the sales of 3 fom mm oawRITE, @€ 2000 3 2001 %%H

b?c:ks (;111 ;housand numbzr)- fm:;n S1X branc:[l.les f T T i 55 ~ %Eﬁ,

of a publishing company during two consecutive , EHG

fashl (B9 aSTTdT o0l

years 2000 and 2001. l (= 1) = 8l LA

120 120 EaEd

‘ f. :
=100 L’i [ JJ/_. [ ] ~ 100 = 0% _?/: i a5

g % - 8 a2 R -« R -«

E 0 |/ | #5 | B0 E onl 80 - B0

2 T A : o 1 =

T 70 : - - 7 T 70 - 5 . T

% 60 f e /| / /) 8 o = 1 1 I

é 50, . / Fd : é 50 / s | / /// /

: B 4 /| / / c 4 /1 1 /

T an > } j o 20 7 -

? 10 a 4 /f / ' ? 10 - : /

0 4 / 4 /| / 0 4 / / / /| /
Bl B B B4 BS B6 Bl B2 B B4 BS B6
Branches |: 2000 Z 2001 Branches |: 2000 V 2001

048. What is the ratio of total sales of branch | 048. @Ml adf @ ford, smar B2 H A fershi
B2 for both years to total sales of branch AR W@l B4 e FoA feshl w1 I
B4 for both years? E2 I
(A} 223 (B) 3:5 (A) 2:3 (B) 3:5
(C) 4:5 (D) 7:9 (C) 4:5 D) 7:9

049. Total sales of branch B6, for both years, | 049. aHI a§i % foi wm@n B6 s FA foshl
is what percent of the total sales of branch @l B3 A foshl @1 fohanr wfawa
B3 for both the years? 37
(A) 68.54% (B) 71.11% (A) 68.54% (B)  71.11%

(C) 73.17% (D) 75.55% (C) 73.17% (D)  75.55%

050. What percent of the average sales of | 050. ¥ 2000 # BI, B3 3t B6 wm@risfi i
branches B1, B2 and B3 in 2001, is the sitga feshl, a8 2001 § BI, B2 3R B3
average sales of branches B1, B3 and B6 yrarsT i 3fEd feshl &1 feham wfawa
in 20007 27
(A) 75% B) 77.5% (A) 75% (B) 77.5%

(C) 82.5% D) 87.5% (C) 82.5% (D) 87.5%

6-AA | [ 11 ] | P.T.O.
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Ll
gnins)
%.J“E:J] Paper 6 (Thinking and Decision Making)
Fary 051, Look at this series 2, 5, 10, 50, 500, 5000, | 051. @ #ft = 2@ 2, 5, 10, 50, 500, 5000,
LT
RS one term in this series is wrong. Find out the 39 Juft § Uk U2 Td Bl 39 TTid S ol
g lon
LI
wrong term:
(36 (A) 2 (B) 5 (A) 2 (B) 5
FAE (C) 500 (D) 5000 (C) 500 (D) 5000
LHE
e
Ll
RRER :
“4Ed 052, Look at this series AB, BA, ABC, CBA, | 052. =& 3uft & 3@ AB, BA, ABC, CBA, ABCD,
ABCD, ...... which word should come next? ... H IeE ST BE
(A) ACBD (B) BACD (A) ACBD (B) BACD
(C) CABD (D) DCBA (C) CABD (D) DCBA
053. In certain code, SIKKIM is written as | 053. $& @€ §, SIKKIM @l THLIJL % &9 §
THLJJL. How is TRAINING written in that for@r ST 21 38 sis # TRAINING $38
code? for@r Sram 27
(A) SQBHOHOH (B) UQBHOHOF (A) SQBHOHOH (B) UQBHOHOF
(C) UQBJOHOH (D) UQBJOHHO (C) UQBJOHOH (D) UQBJOHHO
054. If pen is table, table is fan, fan is chair, and | 054, 3Ifc wem u9 B, I 9@ &, 9@l el
chair is roof, on which the following will a 8, 3R i q g, Fofafea & 7 foa
person sit? W U Ak o3 Hehal a7
(A) Fan (B) Chair (A) U@ (B) i
(C) Roof (D) Table (C) Bd (D) TS
055. Deepak said to Nitin, “That boy playing with | 055, dge 9 fAfas ° =g, 98 d=&1
the football is the younger of two brothers of Foaid Wadl &8, W fyar I gt Al
the daughter of my father’s wife. How 1s the ST o @ uEAl H °@ B gl d9e <R
boy playing football related to Deepak? ETEIN Q4 9Tl dghl O o1 HAY 8¢
(A) Son (B) Brother (A) 9 (B) T8
(C) Brother-in-law (D) Cousin (C) g (D) <= 9E
6-AA | [12] [ Contd...
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056. Raju is brother of Ravi, Rekha is sister of | (5. g g =1 98 2, @i AqA h FEH
Atul. Ravi is son of Rekha. How is Raju HERC R C G - r TS @& 3
related to Rekha? T oY 2?7
(A) Son (B) Brother (A) 9 (B) T8
(C) Daughter (D) Sister (C) 33ﬁ (D) ®&d

Directions for Q.57 to Q.59 : Read the information Q.57 re| Q.59 & %N; fesn-fgsr: =0 & T

given below and answer the questions that follow: SIECAL q% AN M 9 IS + I ¢

A+ B means A is the daughter of B;A-BmeansAis | A+ B &1 314 & A, B &l & %; A — B & Adold

the husband of B; A x B means A is the brotherof B. | A B %1 ufd 8; Ax B &1 31 8 A, B &l 4 2l

057. IfP+Q—R, which of the following is true? | 57, 3fe p+Q - R, F=fafEa & & =1 @1 @& 37
(A) R is the sister-in-law of P (A) R, P <hi @it 2
(B) R is the mother of P (B) R, P& @l ®
(C) R is the aunt of P (C) R, P& ==t 2
(D) R is the mother-in-law of P (D) R, Pl @@ 2

058. IfPx Q + R, which of the following is true: 058. e Px Q+R, F=fcifga 7 & <A o1 =& 87
(A) P is the brother of R (A) P, R T WS B
(B) Pis the uncle of R (B) P, R &1 == 2
(C) Pis the son of R (C) P, R &I T &

(D) P is the father of R (D) P, R &1 far 2
059. IfP+Q xR, which of the following is true? | 059, 3fe p+Q x R, Fi=fif@a & & =1 @1 Tdl 37
(A) Pis the daughter-in-law of R (A) P, R &l ey @
(B) Pis the cousin of R (B) P, R &1 <=0 41§ @
(C) P is the daughter of R (C) P, Rl & ®
(D) P is the niece of R (D) P, R &1 w2
6-AA | [13] | P.T.O.
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ol
ii:i{hﬁ 060. Mathematics is related to numbers in the | g0, =forg 1 < T=Fy T T &2 9B & fwm
;‘3}{[_‘3} same way as History is related to 1 Y 7
e
QQ (A) Dates (B) Wars A) =i & B) IG @
e |
e (C) Events (D) People (C) wesdt & (D) @ o
o)
Let
G
LR
o)
BAED 061.  Seais related to Cyclones in the same way as | g¢1. g w1 W GEY WEdAH 9 8 a9 @
Sky is related to IR HI Y 2
(A) Wind (B) Airplane (A) & (B) a3 &I
(C) Blue (D) Cloud (C) e (D) ded
062. What is associated with Picasso, as Films is | 062. {58 yorR gcsia 1@ fhew 9 g=feq &
associated with Satyajit Ray? 30 B fuem o1 gy fred 27
(A) Painting (B) Poetry (A) dfem (B) hiddl
(C) Literature (D) Drama (C) Arifgc (D) g
063. If PRICE is coded as SVNIL, COST will be | 063. ¥fq PRICE %I SVNIL % &4 H shifsd fera
T g, a1 COST @ =1 & &9 § wifea fomn
coded as:
SITUTT:
(A) FSXY (B) FSWY
(A) FSXY (B) FSWY
(C) FTWZ (D) FSXZ
(C) FTWZ (D) FSXZ
064. If MADRAS is coded as 56, how can | 064. If¢ MADRAS &l 56 & &9 H whifsa fora
T R, @ CALCUTTA & 8 hifed fram s
CALCUTTA be coded?
Thdl 87
(A) 8 (B) 38 (A) 8 (B) 38
(C) 81 (D) 76 (C) 81 (D) 76
6-AA | [ 14 ] [ Contd...
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065. In certain code language ‘SauPeyTe’ means | 065. UH @Ie WWT § ‘SauPeyTe’ @1 374 2
‘Doctor Vinod Kumar’, ‘Ting Pu Sau’ ‘gfgex fodie PHITC, ‘Ting Pu Sau’ <hl 3d B
means ‘Satish is Doctor’, ‘Ping Pong Ting’ TS SR 7, ‘Ping Pong Ting’ bl 7Y B
means ‘Satish and Ram’. Which word in that FdAlw I A IH W H fRE W]
language means ‘is’? w3 s B?
(A) Sau (B) Pey (A) Sau (B) Pey
(C) Pu (D) Ting (C) Pu (D) Ting

066. If rectangle is called a circle, a circle is | 066. If¢ 3T &I T dd hal Al 8, d Th
a point, a point is a triangle, a triangle is a gd Th fig B, wh fig T B g,
square, then wheel is a: Utk B wh T B, fR us ufgm @
(A) Rectangle (B) Circle (A) AFd (B) dd
(C) Point (D) Square (C) feg (D) @i

067. Rest: Busy :: Coarse : ? 067. JRM : & :: T6 :7
(A) Variant (B) Wild (A) FHR (B) STt
(C) Adulterated (D) Fine €) Fa=dt (D) d*

068. Cunning : Fox :: Timid : ? 068. =Teih : TNHG 1 Sh : 7
(A) Elephant (B) Rabbit (A) Bt (B) @MW
(C) Leopard (D) Ass (C) dgar (D) TH

069. Choose the group of letters which is different | 069. 38 3sq HHE ® B A G "I
from others: 8
(A) BCD (B) KMN (A) BCD (B) KMN
(C) QRS (D) GHI (C) QRS (D) GHI

070. Choose the number which is different from | 070. 38 H&Al I B S AU ¥ AT &:
?;e?él i (A) 381 (B) 552
(C) 729 (D) 903 (C) 729 (D) 903

6-AA | [15] | P.T.O.
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Directions for Q.71 to Q.75: Read the following

information and answer the questions based on it:

In a school there were five teachers. A and B were
teaching Hindi and English. C and B were teaching
English and Geography. D and A were teaching
Mathematics and Hindi. E and B were teaching

History and French.

071. Who among the teachers was teaching
maximum number of subjects?
(A) A (B) B
(C) C (D) E

072. Which of the following pairs was teaching
both Geography and Hindi?
(A) Aand B (B) Band C
(C) Dand A (D) None of these

073. More than two teachers were teaching which

.71 9 9.75 % & fore ficm: Fefafea g =
Ue 91 3IM W YNNG YA & IO <

ueh foemem # 9w fyeres 9 A g B &=t 3R
S Ul 9| C T B S AR PNiad dgrd
9| D U A TG 3R f&d v 91 E td B
sfae@ o %9 we 9

071. foeret & & &9 wad e foww ugEr

qT?
(A) A (B) B
(€) G (D) E

072. TmafafEa & @ @8 @ Ser gwia @ &
QI Ygral o1?
(A) ATda B (B) BWW C
(C) DW A (D) FH & &R &

073. ° 9 e B w9 ¥ 9w v 97

subject?
(A) Geography (B) History (A) ®)
(C) Hindi (D) French ©) f&& (D) =
074. D, B, A were teaching which of the following | 074. D, B @@ A frafafga 0 @ &9 @1 fagg
subject? TJerd U7
(A) English only (A) haal 3T
(B) Hindi only (B) whaw f&c
(C) Hindi and English (C) &G =M =sh
(D) English and Geography (D) 3T 3R M
075. Who among the teachers was teaching less | 075. el & O 9 @ fowg @ =8 v
than two subjects: 9T 7
(A) A (B) B (A) A (B) B
(C) D (D) None of these (C) D (D) 78 ¥ I3 T&
6-AA | [16] | Contd...
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Paper 6 (General Awareness)

076. Which presidential order is related to the | 076, < ®FHR # Ige8g 370 1 R
abrogation of article 370 in Jammu and urdta dfyg § @wied % R A
Kashmir by an amendment in the Indian o
constitution? SE TR TR S & Hela
(A) 1954 (B) 1949 (A) 1954 (B) 1949
(C) 1978 (D) 2019 (C) 1978 (D) 2019

077. Who has been conferred with the Dada Sahib | 077. TGRS Hlech THHM - HRA 6l dod
Falke Award 2019 — Indian highest film honor ag1 fhedw TE o ff 9rRam fmn A
for the contribution in Indian cinema? IAEH 6 1%!1{ feraenl wea T mm 2
(A) Dilip Kumar (A) fecfta R
(B) Amitabh Bachhan (B) AfHamy s==H
(C) Shashi Kapur (C) wIfsT &R
(D) Anupam Kher (D) 399 W

078. Which is the first Indian firm to hit Rs. 10 | 078. M H 9RdE™ ®H 4 10 /@ HUS
lakh crore market capitalizations in 2019? IR T el 2019 H fRam ®:

(A) Tata Consultancy Services (A) <Iel HaceHl ﬁEITQ
(B) Oil and Natural Gas Commission (B) da ud EI'I?F«-F»" g ST
(C) Coal India Limited (C) WRAE HEAT &
(D) Reliance Industries Limited (D) fome sgm geam

079. Which of the following Port recently | 079. $H ¥ fohm dgumg 4 941 150 93
celebrated its 150th anniversary and attended g ® omm undE ggmwsht 9 ot wm
by the Prime Minister of India? foram e
(A) Chennai Port Trust (A) T TR
(B) Kolkata Port (B) ehicishIdl SEUTR
(C) Bombay Port Trust (C) 9l EEUTE
(D) Cochin Port Trust (D) = EEUTE

6-AA | [17] | P.T.O.
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080. Who among the following was the Chairman | 080. ETI'EI g fore yrdw fod &% UG EI
of the Committee on Deepening Digital fefire T giifa &1 37eay ﬁ'ﬂﬂﬂ
Payments appointed by the RBI? foram M ?

(A) Nandan Nilekeni (A) A~ Herert

(B) HR Khan (B) Td. AR @H

(C) NR Narayan Murthy (C) TI. AR AREY Hfd
(D) Anand Mahindra (D) 3AHe Hia=l

081. The Nobel Prize 2019 for Economics has | 081. 3fSiid oHsll, TR TFRAl 3R A3HA
been awarded to Abhijit Banerjee, Esther %O I 2019 I AlE R AT
Duflo and Michael Kremer for 7 frg s & %lt{ fear man?

(A) Fight against poverty (A) T F faae =

(B) Consumption pattern among rural mass (B) UTHOT AR § IUAM T Ued oE@H H

(C) Decision making under asymmetric (C) raaftd LRl 7 fole &= |
information (D) 31eh $Rehl H AR fIemur @

(D) Role of non-economic factors in trade DIMIAES

082. What was India’s rank among 156 countries | 082. HRd <hl gl 156 <3 H dfyaes gE=an
in the Global Happiness Index 20197 H@m 2019 § @& 917
(A) 140 (B) 132 (A) 140 (B) 132
(C) 137 (D) 134 (C) 137 (D) 134

083. Which constitutional amendments provide | 083. & Hauthes @wigs o 10 gfasrd TRe
10% reservation to economically weaker = a9 o STMUHEY ¥ HAIR 97 ol
section for general category candidates? fear w2l
(A) 123 (B) 124 (A) 123 (B) 124
(C) 122 (D) 121 (C) 122 (D) 121

6-AA | [18] [ Contd...
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084. Which of the following cricketer has been | o84, frg fiphe faamel = ICC & feadl
named ICC ODI Cricketer of the Year 2019? fspeper 2019 wrfaa fepam T 2|
(A) Virat kohli (A) ﬁ‘lﬂd qﬁam’]
(B) K L Rahul (B) % T )
(C) Rohit Sharma (C) Ufza i
(D) Suresh Raina (D) Eﬁ\'ﬂ I
085. What i1s SWAYAM, an online learning | ¢85, HHa HEEd I gH 983 f&ar T
platform initiated by the ministry of Human ey B eEd SWAYAM # 3
Resource Development? s _
(A) W& dd 3% TUfeed AT MhIad
(A) Study Webs of Active Learning for Young
ga1 #femss & fog
Aspiring Minds .
(B) W& deR A% Uldaa T Fal
(B) Study Webinar for Active Learning for _
o arieft % fou
Young Aspiring Minds
| | | | (C) W&t & *rid & dAfhg e g
(C) StudyWhileworking for Active Learning
for Yong Aspiration Minds <Gl AFieft 7 % fe
(D) Study Worldwide webof Active Learning (D) ¥t fovmeardt 9 @wfFa H@ g
for Youth of Aspiration Minds reRiefl 79 JKIT'IQ
086. As per the policy of partial privatization of | 086. W™ I&d grr 31fres  fsfeswor  Hifd
operations of Indian Railways, premium sidma, Afrm 39, dww, = e s
express train Tejas between New Delhi and
[GICE R ?
Lucknow is being run by? F 9 FH T @R
(A) RITES (A) ¥R 3% & 3 W
(B) ITDC (B) ¥ & &t i
(C) IRCTC (C) = I #t & +#H
(D) IRCON (D) M
6-AA | [19'] | P.T.O.
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087. Who won the Tyler Prize 2020 for the work | 087. 2020 &1 eR J&HR sl fh gafaro =+
on bringing the economic consequences of 999 ¥ 3t gEEIﬂ'UITﬁ 3wy s
envir{?nmental degradation al:](-i loss h.n.the TR AR TU wE % swE @
attention of corporate and political decision-
makers? o fope Sffar 3
(A) Pawan Sukhdev (A) T FEed
(B) Sunita Narayan (B) gHar Arm
(C) Anil Agarwal (C) e 3wETa
(D) Vandana Shiva (D) dwea1 feran

088. What is India’s rank in global competitive | 088. WRa =1 difvass gfaarfi W g &
index 20197 H 87
(A) 58 (B) 72 (A) 58 B) 72
(C) 68 (D) 71 (©) 68 D) 71

089. In the context of digital technologies for | 089. TS %‘g’ fefed dhieh & el | =
entertainment, consider the following %TQ FU9 F FTER
statements :

1. InAugmented Reality (AR), a simulated I STERS w=R W fa'ﬂﬁ%g AT
environment is created and the physical ST Wl R i wER g
world is completely shut out. §< @d &l

2. InVirtualReality (VR),images generated 2. f&{g&m a=rs H, HITI gRI S
from a computer are projected onto real- ™ o fod oS oTede W g
life objects or surroundings. =1

3. ARallowsindividuals to be present in the
world and improves the experience using 3. AR H1 FEW H W R MW
the camera of smartphone or PC. h HiHd HI THE BH A Wéﬁ

4. VR closes the world, and transposes S d sldl 2l
an individual, providing complete 4. VR GER <l &¢ T@dl 8 3 I
immersion experience Tﬁ GiEeTIdr o0 FVE T 2

E?;::t;f the statements given above is/ are e E R T

(A) land2only (B) 3and4 (A) land?2 (B) 3and 4

(C) 1,2,and 3 (D) 4 only (C) 1,2,and 3 (D) had 4

6-AA | [20] [ Contd...
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090. In August 2019, the Government of India | ¢9¢. 37&d 2019 H YRd TR 4 100% Hiemn
has allowed 100% FDI (Foreign Direct T I .
Investment) through automatic route in which ‘
sector? L 313‘l:|ﬁ| K
I. Coal mining and associated I. <id @gH AR Fgart uiia g

infrastructure L dfre ffo
II. Contract manufacturing
II. Digital media L
IV. Defense production V. T sered
Correct option is - wel fpen @
(A) Tand Ilonly  (B) Il and IV only (A) Tand II%ae  (B) Il and IV s
(C) Tand Il only (D) I and IV only (C) Tand lIIshaa (D) I and IV shad

091. Kayakalp aims to promote sanitation and | 091. HHEThed I 3T TE=Sdl Ud HEHE ol
hygiene in which of the following institutions EE %ﬂ fre wWEIM H BY
(A) Public healthcare (A) S Y
(B) Primary schools (B) wfieh Tpod
(C) All educational institutions (C) &t foreqor weemmay o
(D) Railway stations (D) {&d TIH

092. Who has been has appointed as the first [ 092, ¥NRd ¥R gRI 999 &I &1 WIh &l
Chief of Defense Staff (CDS) by the Central fgfea fea femr mr 3 & fo wrdi
Government heading the Indian Armed e e Hﬁﬁ'éﬂ arm s watfus
Forces and the senior-most uniformed s gﬁr':h‘lﬁ § R oeTesR G
military adviser to the Government of India
(A) General Bipin Rawat SO L
(B) General B S Dhanoa (B) STt Sl T RRL
(C) Karambir Singh (C) R fom
(D) Rakesh Kumar Singh Bhadauria (D) Tkw FAR & wdifan

6-AA | [21] | P.T.O.
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093.  Whois the recipient of Jnanpith award 2019? | 093, YRd™ FEdE TR 2019 I Ted &
(A) Shankar Kurup A A R
(B) Amitava Ghosh (8) T

| _ (B) fudmen =iy
o it | T
itham Achuthan Namboothiri (D) FFha Ireqe Feeh

094. Statue of Unity is related to which Indian | o4, wepar = qfd fra ardla ToHar 9 gefa
statesman? 27
(A) Mahatma Gandhi (A) HETeHT Teft
(B) Rajendra Prasad (B) TSl YHTE
(C) Sardar Patel (C) WER 9e¢d
(D) Jawaharlal Nehru (D) a8t A g%

095. Under the new citizenship amendment | g95 3 woifRg mferar ST 2019 G L LG]
act 2019, residents of which countries are fora oo o farfaar &1y amfieran
allowed to get citizenship in India? &I 3:|a'1:|ﬁ| ferett)

(A) Myanmar, Bangladesh, Afghanistan (A) TIAR, ST <%, AR

(B) Bangladesh, Pakistan and Sri Lanka (B) TCIICY, UIfehEd™ 3T sfieieht

(C) Afghanistan, Bangladesh and Pakistan (C) WT[EI’R—I‘H, AT 9 3T gTfepsd™
(D) Sri Lanka, Afghanistan and Pakistan (D) #ieTehl, STHMHEAH 3R grieha™

096. As per the Economic survey of India 2019, | 096. 2019 & YA AT A0 & HAUR T
what is the projected growth rate of economy? ST i CﬂEFITﬁH faeE @ w1 wft?
(A) 5 t05.5% (A) 59 55%

(B) 6 to6.5% (B) 6 ¥ 6.5%
(C) 5 t06% (C) 5 ¥ 6%
(D) 6.5 to7% (D) 6.5 " 7%
6-AA | [22] [ Contd...
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097. Which country has deployed the first | 097. frelt 291 3 vgeft sRuEwifes faarsa dad
hypersonic missiles, which can fly 27 times F 7 o fh @l & 27 T aT ° IS
the speed of sound? Tehdl &7
(A) America (B) France (A) 3 (B) %H
(C) Germany (D) Russia (C) <t (D) &4
098. Who wrote the autobiography titled | 098. ‘foec@’ fides & IcAsen forua foe
‘Relentless’? 87
(A) Man Mohan Singh (A) THEd fos
(B) Pranab Mukherjee (B) Surd H@Sii
(C) Yashvant Sinha (C) gvaa T
(D) LK Advani (D) TA. & 3mSarof
099. Which ofthe following is the newly suggested | 099. 38 & - Tff efmfesa Aex «fim
telematics motor insurance by the Insurance aomr fmr fame W faew g
Regulatory and Development Authority of (IRDAI) 2T m 27
India (IRDAI)?
(A) 998 s Tifert
(A) Named driver policy
(B) Owners insurance policy (B) 3T = dered
(C) Named rider insurance (C) #Hs TET Sfm
(D) Named operator insurance (D) g AT ST
100. Which Indian boxer won the silver medal in | 100. Rt “RdE Haharss 4 fava  gacharsi
world boxing championship 2019? gfaenifar 2019 & ©d 9o HAdr &7
(A) Vijender Singh (A) a7
(B) Yogeshwar Dutt (B) AMTEX &
(C) Arif Lamba (C) it e
(D) Amit Panghal (D) S HTad
6-AA | [23] | P.T.O.
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